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_Dip. in Engg. (Fourth Semester)
) EXAMINATION, 2022 AP R-MAY
(Scheme : NITTTR)

(Branch : CSE)
DATABASE MANAGEMENT SYSTEM
. Time : Three Hours ] [ Maximum Marks : 70
' [Mipimum Pass Marks : 25
Note : All questions are compulsory. Internal choices for

questions are given. In case of any doubt or dispute,
English version question should be treated as final.
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(a) Define DBMS. Write four advantages and Jour

. - disadvantages of DBMS. o 5.

DBMsaﬁqﬁvﬂﬁﬁaﬁmlnBMsa%anm
3R IR Jam fofag )

P.T.O.



3.

(2] 2022474(022)
(b) Explain levels of abstraction in DBMS. 5
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Explain DBMS architecture using diagram.
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(@) Define data model. Explain the types of data

model. 8
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(b) Explain E-R model and its components. 8
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Explain the types of schema. Also differentiate
schema and instance.
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(a) Explain differentdatatypesinSQL. . . 6
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(b) Define constraint. Explain any five const-raih'ts '
. used in SQL. 8
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Explain any three DDL and any three TCL
commands using example.
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Define SQL join. Explain the types of SQL join.
8
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Explain ‘Group by’, ‘having’ and ‘order by’

- clause using example. 8
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Explain correlated and .nen-correlated subquery
using example. ... -
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_ Define normalization. Explain INF, 2NF and

3NF using example. i 6
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| (b) Write short notes on'any two of the following : 8,
(i) Trivial and Non-trivial FD
(ii) Closure of a set of dependencies

(iii) Closure of a set attnbutes
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(i) Trivial 9™ Non-trivial FD
(i) Closure of a set ofdependencies

(iii) Closure of a set atiributes
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